Math 102  Quiz 1 (A)

Q.1: Estimate area under the graph of y = 16 — 2? from x = —4 to x = 4 using midpoints of 4

approximating rectangles.
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Sol: Azxr = =2and xg=—4, r1=-2, 25=0, 3 =2, x4 =4.

The mid points are 7, = =3, Ty = —1, T3 =1, T4, =3

My=(f (Z1) + f(Z2) + f(Z3)+ f (24)) Az = (16 —9+16 — 14+ 16 — 1 + 16 — 9) 2 = 88

Q.2: Ify — / (Int) dt, then find .
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Sol: y' =In(sinz) cosz and y" = —— cosx cosx—In (sinz) sinz = cotx cosz—sin x In (sin z)
sin z
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Q.3: Using /f (z) dz = lim > f(x;) Az, evaluate the integral / (23 +22° + 1) dx
s i=1 0
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